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Current Cashflow to Firm
EBIT(1-t) :       1,829
- Nt CpX          1,799
- Chg WC           190
= FCFF              <160>
Reinvestment Rate =108.75%

Expected Growth 
in EBIT (1-t)
.8862*.1637= .1451
14.51 %

Stable Growth
g = 5%;  Beta = 0.87; 
D/(D+E) = 30%;ROC=14.1%
Reinvestment Rate=35.46%

Terminal Value 10= 4806 / (.0792-.05) = 164,486

Cost of Equity
9.79%

Cost of Debt
(5%+ 0.80%)(1-.35)
= 3.77%

Weights
E = 95.55% D = 4.45%

Discount at  Cost of Capital (WACC) = 9.79% (0.9555) + 3.77% (0.0445) = 9.52%

Firm Value: 68,949
+ Cash:         62
- Debt:   4,081
=Equity 64,930
-Options   2,021
Value/Share $42.55

Riskfree Rate :
Government Bond 
Rate = 5%

+
Beta 
0.87 X

Risk Premium
5.5%

Unlevered Beta for 
Sectors: 0.86

Firm’s D/E
Ratio: 4.76%

Historical US 
Premium
5.5%

Country Risk
Premium
0%

Figure 31.5: The Home Depot: A Valuation
Reinvestment Rate
88.62%

Return on Capital
16.37%
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